
Q.No.1. Choose the correct option. (1 x 13 = 13) 
i) The sum of 542 007 and 641 416 is:  641 416  542 007

(a) 1 183 423 (b) 1 173 533 (c) 1 179 543 (d) 2 337 473

ii) The difference of 804 251 and 521 607 is :  521 607  804 251

(a) 171 444 (b) 182 344 (c) 471 404 (d) 282 644
iii) 744 121  504 227 = ?
(a) 139 274 (b) 339 794 (c) 239 894 (d) 449 564

iv) 293 1090 + 625 834 = ?
(a) 918 349 (b) 718 743 (c) 918 943 (d) 618 243

v) Sara has Rs. 112 275 in her bank. She deposits Rs. 341 506 more. How
many rupees she has now?

 341 506  112 275 


(a) Rs. 353 681 (b) Rs. 453 781 (c) Rs. 458 981 (d) Rs. 253 281

vi) Fatima has 710 875 tickets in her collection. She gave 309 748 tickets to her

friend. How many tickets are left with her?

 309 748  710 875 
(a) 410 127 (b) 201 627 (c) 301 387 (d) 401 727

vii)What is the sum of 641 219 and 333 116?  333 116  641 219

(a) 871 335 (b) 774 235 (c) 974 335 (d) 674 235

viii)When we subtract 205 921 from 753 063 we get:

 753 063 205 921

(a) 547 142 (b) 548 142 (c) 547 252 (d) 543 142

ix) In a cinema, there are 335 669 people. 121 468 people leave. How many
people are left?

 121 468  335 669 
(a) 314 301 (b) 414 201 (c) 114 701 (d) 214 201

x) Zaid had Rs. 321 688 and Talha has Rs. 667 291. How much total money
do there have?

 667 291  321 688 
(a) Rs. 988 979 (b) Rs. 889 976 (c) Rs. 899 679 (d) Rs. 909 889

xi) The difference of the smallest 6-digit number and the greatest 5-digit
number is:

 5  6 
(a) 0 (b) 1 (c) -1 (d) 10

xii)Subtract 289 344 from 760 862 we get:

 760 862 289 344

(a) 571 618 (b) 471 518 (c) 671 318 (d) 371 618

xiii) 441 775 + 379 621 = ?

(a) 821 396 (b) 721 296 (c) 621 796 (d) 521 896

Q.No.2.Solve the following. (4 x 2 = 8) 
i) 696 349  288 888
_______________________________________________________________

ii) 200 454 + 126 654
_______________________________________________________________

iii) 675 921  37 412
_______________________________________________________________

iv) 181 314 + 609 225
______________________________________________________________________________________________________________________________

Q.No.3.Farhan donates Rs. 600 000 to two Edhi organizations. If he pays Rs.
385 990 to one Edhi organization, how much will he pay to the other
organizations? (1 x 4 = 4)

 385 990  600 000 

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